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And let him teach; I forced her - SNDIN 309

Overview

The mawn stated that if one admitted to seducing a woman he pays 2391 N2 but not
01p (for Mu»d 0I1pP2 77M). The X3 asked why the 71wn did not teach "noiX (instead of
>n°no). Our MoOIN explains why would >noix be better than *n°ns.!

LA NYYVY DTINT VYN 2097 29V WITH MDY
For "noiX is a greater novelty that he is 212 from paying 017, more than °n°ns; he
is M5 by "noiX even though he admits that he acted promiscuously

Summary
There is a greater ¥17°11 by *noiX than by *n°nd regarding the 715 of 01p.

Thinking it over
There seems to be a w17 both by "noiX (regarding 01p), and by *n°no (regarding
5™32);> why did the 73wn choose one w11 (of *n°nd) over the other (*NDIX)?!

! The question becomes much stronger in light of the s'kn3 answer that there is a greater novelty by >n°>ns more than
"noIR, so why should the m1wn state *noIxR?!

2 It turns out that regarding the non-payment of 01p the greater w17°1 is by >noiR, and regarding payment of 5™2 the
greater ¥17°1 is by *n°nd. See ‘Thinking it over’

3 See footnote # 2.
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